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Early Modern India : EHI-3 
a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ (Time : 4 Hours) 

Y…SÔ]ÁX  f 100 (Full Marks : 100)  

]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% (Weightage of Marks : 70%) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

◊[˝\ˆÁG - Eı 
1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 
 (Eı) ]«H_ %Á]„_Ã[˝ E ıbEı ◊[˝‰V–Á„c˜Ã[˝ EıÁÃ[˝Sm◊_„Eı %ÁY◊X 

◊Eı\ˆÁ„[˝ [˝ÓÁFÓÁ EıÃ[˝„[˝X ? Ac˜O ◊[˝‰V–Ác˜m◊_Ã[˝ a„Ü 
]«H_ Ã[˝Ár—Ù[˝Ó[˝ÿöˆÁÃ[˝ a+EÔı ◊XÃ[˝”YS EıÃ[˝”X* 

 (F) %rÙÁV` `TˆÁå›„Tˆ AEı◊ªRÙO Ã[˝ÁLÍX◊TˆEı `◊N˛ Ã[˝÷„Y 
[˝Áe_ÁÃ[˝ =xÁX [˝SÔXÁ EıÃ[˝”X* 

 (G) 1857Ã[˝ ◊[˝‰V–Á„c˜Ã[˝ Y“E ı◊Tˆ Y^ÔÁ„_ÁªJÙXÁ EıÃ[˝”X* 
 (H) \…ˆ◊] Ã[˝ÁLÿëˆ aeG–c˜ EıÃ[˝ÁÃ[˝ [˝Ó[˝ÿöˆÁ C DY◊X„[˝◊`Eı 

aÃ[˝EıÁ„Ã[˝Ã[˝ %UÔÍX◊TˆEı l˘]TˆÁÃ^„XÃ[˝ ÊY“◊l˘„Tˆ [˝Áe_ÁÃ[˝ 
◊ªJÙÃ[˝ÿöˆÁÃ^› [˝„≥VÁ[˝ÿôˆ ◊[˝‰`¿bS EıÃ[˝”X* 

◊[˝\ˆÁG - F 
2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) ]«H_ %◊\ˆLÁTˆ Ê`“S›Ã[˝ GPˆX C ªJÙ◊Ã[˝y ◊[˝‰`¿bS EıÃ[˝”X* 
(F) 1757 ÂU„Eı 1764 F–›rÙÁå Y^Ô‹ôˆ c˜OrÙ c˜O◊â¯Ã^Á 

ÂEıÁ+ÁX›Ã[˝ a„Ü [˝Áe_ÁÃ[˝ X[˝Á„[˝Ã[˝ a+EÔı ◊[˝‰`¿bS 
EıÃ[˝”X* 

(G) c˜OÜ-]c˜›£Ã[˝ a+„EÔıÃ[˝ ◊[˝◊\ˆ~ Y^ÔÁÃ^m◊_„Eı ◊[˝‰`¿bS 
EıÃ[˝”X* 

(H) %[˝◊`îÁÃ^X a+„EÔı AEı◊ªRÙO Y“[˝μ˘ ◊_F«X* 
(I¯) =◊X` `Tˆ„EıÃ[˝ [˝Áe_ÁÃ[˝ aÁeï ı◊TˆEı c˜O◊Tˆc˜Áa„Eı "X[˝- 

LÁGÃ[˝S' %ÁFÓÁ ÂVCÃ^Á EıTˆªRÙOÁ ^«◊N˛aÜTˆ ? 
(ªªJÙ˜) c˜OrÙ c˜O◊â¯Ã^Á ÂEıÁ+ÁX›Ã[˝ %Á]„_ \ˆÁÃ[˝„TˆÃ[˝ E ıbEı 

◊[˝‰V–Ác˜m◊_ ◊[˝‰`¿bS EıÃ[˝”X* 
◊[˝\ˆÁG - G 

3* ae◊l˘ä ªRÙO›EıÁ ◊_F«X ( Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO ) f 6 × 4 = 24 
(Eı) Ã[˝ÁÃ^TˆCÃ^ÁÃ[˝› [˝„≥VÁ[˝ÿôˆ 
(F) ÂÃ[˝m„_◊ªRÙOe %ÓÁkÙ (1773) 
(G) EıXÔCÃ^Á◊_` ÂEıÁQˆ 
(H) a±ºˆ ◊[˝„_ÁY X›◊Tˆ 
(I¯) Y“ÁEÀı DY◊X„[˝◊`Eı \ˆÁÃ[˝„TˆÃ[˝ G–Á]›S a]ÁL 
(ªJÙ) a_[˝Ác˜O„Ã^Ã[˝ a◊μ˘ 
(ªK˜) ◊aYÁc˜› ◊[˝‰V–Á„c˜Ã[˝ TˆÁdY^Ô 
(L) ◊X∂oˆGÁ]› ªªJg«Ùc˜O„Ã^ YQÕˆÁ X›◊Tˆ* 
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English Version 

Group – A 

1. Answer any two questions : 20 × 2 = 40 

 a) How would you explain the causes of the 

peasant revolts in the Mughal period ? 

Determine the relationship between these 

revolts and the Mughal state. 

 b) Describe the rise of Bengal as a political 

power in the 18th century. 

 c) Review the nature of the Revolt of 1857. 

 d) Explain the permanent settlement of Bengal 

as a system of land revenue collection and 

economic empowerment of the colonial 

government.   

Group – B 

2. Answer any three questions : 12 × 3 = 36 

 a) Explain the structure and nature of the 

Mughal nobility. 

 b) Analyse the relationship of the Nawab of 

Bengal with the East India Company during 

the period between 1757 and 1764. 

 c) Explain the various stages of the Anglo- 

Mysore relations. 

 d) Write an essay on the de-industrialisation. 

 e) How far is it reasonable to accept the 

cultural history of the 19th Century Bengal 

as Renaissance ? 

 f) Analyse the peasant revolts of India during 

the rule of the East India Company. 

Group – C 

3. Write short notes on any four : 6 × 4 = 24 

 a) Ryotwari Settlement 

 b) The Regulating Act (1773) 

 c) Cornwallis Code 

 d) Doctrine of Lapse 

 e) Pre-colonial rural society of India. 

 f) The Treaty of Salbai 

 g) Significance of the Sepoy Mutiny 

 h) The Downward Filtration Theory. 
    

 


